Efficiency vs P,

10.05
o
9.045
>
20.04
[}
2.035
[J]

0.03
0.025

0.02
0.015 : ; :
0.01F - T oo R
0.005f----vrermnieemeeennnns P RRRREE e

1.0

Ratio

=
]
i
b
+

107 1 10 iBZpT (Ge\})o3

—=— DQM_TT__mkFit_ORIG

—— DQM_TT__mkFit_MODIF

Ratio

-

)

. O
=——=u

Efficiency vs ¢

s0.05
U’ .
.045
Q :
50.04F
o .
.035F
o : : : : : :
e R L S SR S
0.025E : : : ; i i
0.02F

kb iy
i

it S SIS LIS S

Y0 S S SO S
H i i i | i i

J__UG_.uu by e
- . .

g I <~:- P HE : )
: 4
g B LA -
H: : el TEFIT +T
0.95 =t -t ===t 1-F - b F R E -
if 2 2 T[4 f Ry
-3 -2 -1 0 1 2 3

o
©

TP @



	Contents
	Page 1


